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:t/Lo ;8s 
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#, $, 

% 
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!=%–!=% 

dL  

&=%–&=% 

dL= !% dL= 
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:t/Lo ;8s 
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7 ufpFkflnsf 

:t/Lo ;8s 
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b]p/fnL–abkf{–df+vf–lrlDnª–/fDr] 

x'Fb} e}/js'08 ;8s 

^, &, 

* 
3 ju{ ^–^ dL 

!=%–!=% 

dL  

&=%–&=% 

dL= !% dL= 
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! 
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u|fdL0f ;8s 

sfdL6f/–nfs'/L8fF8f –km"lNkªsf]6 

;8s 

@ 
ª ju{ #=%–#=% dL= 

!=%–!=% 

dL  
%–% dL= 

!) dL= 
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!) dL= 
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53 
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dL= ( dL= 
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s[lif ;8s 

pn]{gL– le/vs{ ;8s  

# 
r ju{ #–# dL= 

!=%–!=% 

dL  

$=%–$=% 
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s[lif ;8s 
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$=%–$=% 
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ab{kf– s]p/fgL ;8s  
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!=%–!=% 
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$=%–$=% 
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s[lif ;8s 
s]/faf/L ;8s 
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dL  
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;fls{ufp ;8s 
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r ju{ #–# dL= 
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60 

s[lif ;8s 
uxt]– sf]n] –dfg]8Ff8f ;8s 
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dL= ( dL= 
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s[lif ;8s 

dfg]8fF8f– dfVnf]6f]n –;]nf]3/ ;8s 

$ 
r ju{ #–# dL= 

!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 
62 

s[lif ;8s 
cfbfdf/f– :jfdLsf] af]6 ;8s  

$ 
r ju{ #–# dL= 

!=%–!=% 

dL  
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dL= ( dL= 

63 
s[lif ;8s 

tNnf]ufFp– plgrf}/ ;8s  

$ 
r ju{ #–# dL= 

!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 

64 
s[lif ;8s 

:jfdLsf] af]6 –3§]vf]nf ;8s  

$ 
r ju{ #–# dL= 

!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 
65 

s[lif ;8s nfdf6f]n wfdL 6f]n ;8s 
$ 

r ju{ #–# dL= 
!=%–!=% 

dL  
$=%–$=%dL 

( dL= 
66 

s[lif ;8s 
nfd9'Ë]– sfe|] ;8s  

% 
r ju{ #–# dL= 

!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 
67 

s[lif ;8s 
sfe|]– efN8'8f ;8s  

% 
r ju{ #–# dL= 

!=%–!=% 

dL  
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dL= 
( dL= 

68 
s[lif ;8s ;lxbrf]s– d'nfaf/L ;8s 

% 
r ju{ #–# dL= 

!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 

69 
s[lif ;8s ;lxbrf]s– g]kfnLa:tL ;8s  

% 
r ju{ #–# dL= 

!=%–!=% 

dL  
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dL= ( dL= 

70 
s[lif ;8s 

8f8]nL 8f8f x'b} ltdN;Lgf 6f]n 

;8s  

% 
r ju{ #–# dL= 

!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 
71 

s[lif ;8s 
nfdf6f]n x'b} kf}8]n– bfxfn 6f]n 

;8s  

% 
r ju{ #–# dL= 

!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 

72 s[lif ;8s :jfdLsf] af]6 x'b} b]p/fnL ;8s  % r ju{ #–# dL= !=%–!=% $=%–$=% 
( dL= 



dL  dL= 

73 
s[lif ;8s :jfdLsf] af]6– :ofª\tfª 6f]n ;8s  

% 
r ju{ #–# dL= 

!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 
74 

s[lif ;8s rfkaf]6] ;8s  % 
r ju{ #–# dL= 

!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 

75 
s[lif ;8s 

kfgLsf] wf/f x'b{} dflyNnf] ljGh]n 

;8s 
% 

r ju{ #–# dL= 
!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 
76 

s[lif ;8s ebf}/] –cbdf/f ;8s  % 
r ju{ #–# dL= 

!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 

77 
s[lif ;8s u}l/ufFp –u'b'{d– kmnf6] ;8s  % 

r ju{ #–# dL= 
!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 
78 

s[lif ;8s y'Dsf x'b}{ dfhufFp ;8s  % 
r ju{ #–# dL= 

!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 

79 
s[lif ;8s Hofld/] –e'h]n6f]n ;8s % 

r ju{ #–# dL= 
!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 
80 

s[lif ;8s rgf}6] a];|ftL ;8s 
% 

r ju{ #–# dL= 
!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 

81 
s[lif ;8s rfkaf]6] dfVnf] ljGh]n ;8s 

% 
r ju{ #–# dL= 

!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 

82 s[lif ;8s uf}hLgL ;8s %     
( dL= 

83 
s[lif ;8s hf]lu8fF8f cldnfkfgL df;]{kmfF6 ;8s 

^ 
r ju{ #–# dL= 

!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 
84 

s[lif ;8s ;fnaf]6] –cw]/LkmfF6 –hf]uL8fF8f ;8s  ^ 
r ju{ #–# dL= 

!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 
85 

s[lif ;8s 
hf]uL8fF8f –cldnfkfgL –df;]{kmf6 

;8s  

^ 
r ju{ #–# dL= 

!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 
86 s[lif ;8s sflt{s] tfdfª6f]n ;8s ^     

( dL= 
87 

s[lif ;8s ;fpg] clUg 8fF8f ;8s  
& 

r ju{ #–# dL= 
!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 
88 

s[lif ;8s j/af]6 lrlDnª wG;f/ ;8s  
& 

r ju{ #–# dL= 
!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 
89 

s[lif ;8s e§/fO{ 6f]n ;8s  
& 

r ju{ #–# dL= 
!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 
90 

s[lif ;8s rf/u/] sfdL6f/ ;8s  
& 

r ju{ #–# dL= 
!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 



91 
s[lif ;8s ;fpg] ;8s  & 

r ju{ #–# dL= 
!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 

92 
s[lif ;8s /fpt6f]n ;8s  

& 
r ju{ #–# dL= 

!=%–!=% 

dL  

$=%–$=% 

dL= ( dL= 
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